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Abstract

Continuous reduction of fertility has been a focus of demographic problem in Japan. Most previous
studies suggested that the reduction is mainly attributable to the increase of delayed or never married
population, and that marital fertility itself is not decreased. Here I applied the Hadwiger’s model and
Coale and Trussel’s model to the data of age-specific fertility and age-specific marital fertility in postwar
Japan, and clarified some trends as cubic functions. Future projection based on these functions yielded
different results due to the period of used data. When using the data after 1960, the projection suggests

gradual increase of fertility.
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F(z) = G(x)Fm(z),  Fun(z) = Mn(z) exp(my(z)) [1]
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